Chemistry 11 Review Unit 7 Stoichiometry
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Chemistry 11
Unit 7 Review — Stoichiomeitry

1. Giwven the balanced equation:

2 S;L.;Hm Tt 13 Oz = 8 810, i+ 10 HO
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a) What volume nf‘oxygen (STP) is required to react with 204.0 g of SigH,,
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b} . What mass of Si0; is formed when 345.0 g of Hz0 are formed?

345.0g RO x1mol B,O 8 mol Si0s.  Lo.y
= 18.0g Hy0 o mol Holo ;m

= '?315'_9. Si0a

¢} How many molecules of H2O are formed when 17.92 L of O: are used at STP?
1798 L Oy x 100/ 02 10 mol H,0
A4 L Oy 13 r0ol0s

x £-02X 10" olec HaO
,.rmof 1"-‘:7_

3.705 < 10> molec. 2O

dj How many moles of Sl:Hm are needed to just react with 1.204 x 10°° molecules of
oxygen?
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